
BY

W U N D E R L I C
H

A
7

6
1a1

2

5
3

4

Batterie (+) (-)

Sicherungs Scheibe
safety washer

Fahrtrichtung/direction of travel

M5 x 8

Anbauanleitung     Fitting Instruction     Istruzione     Instructions     Instrucciones

Copyright by Wunderlich©

www.wunderlich.de 1

Zusatzscheinwerfer
BMW R 1200 RT/LC

Bestellnummer 32890-30

Auxiliary lights
 BMW R 1200 RT/LC

Part Number 32890-30

Luci ausiliarie
 BMW R 1200 RT/LC

Codice 32890-30

Lumières auxiliaires 
BMW R 1200 RT/LC

Pièce 32890-30

Luces auxiliares
BMW R 1200 RT/LC

Pieza 32890-30

News, Shop, Downloads + Informationen:
www.wunderlich.de

Kataloganforderung + Downloads:
www.wunderlich.de/Katalog

Catalogue download (English):
www.wunderlich.de/en

General information, dealers and news:
www.wunderlich.de/en

Download catalogo (italiano):
www.wunderlich.de/en

Informazioni generali, dealer e Novità:
http://www.wunderlich.de/en

Télécharger les catalogues (francais):
www.wunderlich.de/en

Informations générales et distributeurs:
www.wunderlich.de/en

Descargar los catálogos (español):
www.wunderlich.de/en

Informaciones generales, tiendas y noticias:
www.wunderlich.de/en

FO !IN
Bei Arbeiten an der elektrischen Anlage grund-
sätzlich Batterie (Minuspol) abklemmen! 

When working on the electric system always 
disconnect the battery (negative pole).

D=12/d=6,5/h=7mm

D=12/d=6,7/h=11mm

D=12/d=6,5/h=8mm

M5 x 25

M5 x 30

M6 x 20

2 NM

2 NM

right sideleft side   = RL



BY

W U N D E R L I C
H

R

CB

R R

Anbauanleitung     Fitting Instruction     Istruzione     Instructions     Instrucciones
Copyright by Wunderlich©

www.wunderlich.de 2

D E



BY

W U N D E R L I C
H

R

F1
D=12/d=6,5/h=7mm

F2

R

L L L

G3G2G1

Anbauanleitung     Fitting Instruction     Istruzione     Instructions     Instrucciones

Copyright by Wunderlich©

www.wunderlich.de 3

M5x25

Demontieren wie auf Bild  B

Disassembly as in picture B



BY

W U N D E R L I C
H

H1 H2

1

3

1

2

1 1a

3

5

R R

R

3

4

I1H3

Anbauanleitung     Fitting Instruction     Istruzione     Instructions     Instrucciones

Copyright by Wunderlich©

www.wunderlich.de 4

Achtung:
Verlegevorschlag!

Attention:
Installation proposal!



BY

W U N D E R L I C
H

R

5

4

5

7

7

R

R

(+)

7

7

K L1

JI2

Anbauanleitung     Fitting Instruction     Istruzione     Instructions     Instrucciones

Copyright by Wunderlich©

www.wunderlich.de 5



BY

W U N D E R L I C
H

Batterie (+)

(-)

4

(-) Batterie (+)

R

R R R

Anbauanleitung     Fitting Instruction     Istruzione     Instructions     Instrucciones

Copyright by Wunderlich©

www.wunderlich.de 6

L2 M

Batterie (+)

PON



BY

W U N D E R L I C
H

(-)
Batterie (+)

4

R R R

R

Anbauanleitung     Fitting Instruction     Istruzione     Instructions     Instrucciones

Copyright by Wunderlich©

www.wunderlich.de 7

Q R

(-)

M5x30

D=12/d=6,7/h=11mm
T U

S

right side = left side R


